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7 -0.60141 1.85094 2.11810 7 8 10 12 -0.70600 1.41200 -0.70590
8 0.60141 1.85094 1.41210 8 3 5 7 0.70590 -1.41200 0.70600
9 -1.57450 1.14394  0.00020 9 12 10 14 1.41200 -0.70600 -0.70590
10 -0.60141 1.85094  3.53010 10 7 5 9 -1.41200 0.70590  0.70600
11 -1.94619 0.00000 2.11820 11 12 14 16 -0.70600 1.41200 -0.70590
12 -1.57450 1.14394 1.41220 12 7 9 11 0.70590 -1.41200 0.70600
13 -1.57450 -1.14394 0.00030 13 16 14 18 1.41200 -0.70600 -0.70590
14 -1.94619 0.00000  3.53020 14 11 9 13 -1.41200 0.70590 0.70600
15 -0.60141 -1.85094 2.11830 15 16 18 20 -0.70600 1.41200 -0.70590
16 -1.57450 -1.14394 1.41230 16 11 13 15 0.70590 -1.41200 0.70600
17  0.60141 -1.85094  0.00040 17 20 2 18 1.41200 -0.70640 -0.70600
18 -0.60141 -1.85094  3.53030 18 15 13 17 -1.41200 0.70590  0.70600
19 1.57450 -1.14394  2.11840 19 2 4 20 1.41150 -0.70640 -0.70600
20 0.60141 -1.85094 1.41240 20 15 17 19 0.70590 -1.41200 0.70600

(a) (b)

0.10000000000000;(a)C,=(5000000000 (h)000000

0.1(x)000000000000000000000000000TOO00000
00000 ¢, 00000000000000000000000000000000
00000000000 () 000000000000000000000000
000 (Z0OOOO)0O000000 (a)000000000000 1000000
0000000 4260000 2000000000 1.412,—0.706,—0.7059 0 0 O O
() 0O0OOOO0O000000000000000000000000000000
0000000000000000000000000
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3.3 0DOOOOoOonoon

0200000000000 bO00000O0bO0bObO00O0S>0oUUUbLDbbOn

DO0000xmol DOOODOO 10.0000

12

0 10(a)Chs = (4,4)0 Cpy = (4,0)00000000000000000000

—

13

0 10(b)Chs = (8,0)0 Cpy = (3,3) 0000000000000 0000000

—

12 /home2 /students/takeya/pict /44-40.xyz

13 /home2 /students/takeya/pict /80-33.xyz
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14

0 10(c)Chs = (4,4)0 Cpry = (2,2) 00000000000000000000

_ - — - —_.\- —I
‘NW$'
\\\‘/‘i‘“ =
.v’ “i’—v":‘\_.\

X
.

15

0 10(d)Chs = (8,0)0 Cpry = (5,0) 00000000000000000000

1 /home2/students/takeya/pict /44-22.xyz
15 /home2 /students/takeya/pict /80-50.xyz
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16

0 10(e)Chs = (6,3)0 Cpr = (4,1) 00000000000000000000

01000000000000000000000000000000000000
0000000000000000000000000000000000000
0000 (a),(b) 00 zigzaguO O arm-chair 00 000000000000 0OOO
0 10(a),(b) 0000000000 xmol 0000000000000000000
000000000000000000000 11(c)d (d)000 arm-chair O - arm-
chair 0 0 zigrag 0 —zigzag 00000 00000000000000000000
000000000000

0000050 Chs = (n5,m5)0 Cpr = (n7,m7) 0000000 n5,m5n7,m7 0
0000000000000000000000000000000000000
0000000

16 /home2 /students/takeya/pict /63-41.xyz
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17

011.0000000b0boooooog

000000000000000000000000 12000000000000
0000000000000000 (ABDFEC)DOO0O0ODOOOOODOOO EFO
D00n 00000000000000 A'C'EFD'B'000000000000O0
00000000000000 ACEC'A'B'D'FDBODOO0DOOODOOOODOOO
0000000000000000000 G,O0000000 G,y 000000
D00000000D00000000 T:0 7000000 HE“ODOOOO 20Ty (n=1,...)0
D0 ACOODDOO nTx(n=1...)000000000000000000D0000O0
00000000000000000000000000000000000

17 /home2 /students/takeya/xfig/f-unito.eps
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18

0 12.Chs = (8,0),Chy = (5,0)00000000000000000

19

0 13.Chs = (8,8),Chy = (5,5) 00 000000000000000

18 /home2 /students/takeya/pict,/u80-50.xyz
19 /home2 /students/takeya/pict /u88-55.xyz
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01213 00000000000 0000000D0DbO00b0b00bD 14000000
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20

0 14(a)Chs = (8,8),Chr = (5,5) 00000000000 2T0000000

21

0 14(b)Chs = (8,8),Chr = (5,5) 00000000000 3T0000000

20 /home2 /students/takeya/pict /2u88-55.xyz
2! /home2/students/takeya/pict/3u88-55.xyz
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22

0 14(c)Chs = (12,0),Chy = (8,0) 00000000000 2T0000000

23

0 14(c)Chs = (12,0),Cy = (8,0)0 0000000000 3T0000000

22 /home2 /students/takeya/pict/2u120-80.xyz
23 /home2 /students/takeya/pict/3u120-80.xyz
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000000000000000000C, = (p,m)000000000000
00000000000000000000000000000000000 Cys=
(n5,m5)0 Cp; = (n7,m7)0000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000000000000000000
0000000000000000000000000000000000000
0000000000000000000000000000000000000
00000000000000000000000000 zigzagu 00 arm-chair O
0000000000000000000000000000000000000
000
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